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32/ 8.6 - lDQRZD = DW]DZ

32/ OLCGT\VINRIQ\ 3:\ZDFNL .0XE 6SRUIRZ . RUND
32/ OLCGT\VINRIQ\ 3:\ZDFNL .0XE 6SRUIRZ . RUND

32/ OXNV 5HNLQ %\GJIRVIF]
32/ 8NV . XURUW &HFKRFLQHN
32/ 2UND 6RFKDF]HZ

32/ -0XE 30\ZDFNL 3iHIZD) O:DZD

32/ 8NV _ XURUI &LHFKRFLQHN

32/ OLCGT\VINRIQ\ 3:\ZDFNL. .0XE 6SRUIRZ . RUND

32/ 8NV . XURUW &HFKRFLQHN
32/ 8.6 GZyIND 6RFKDFJHZ
32/ -3 0=26 3iRFN

32/ -0XE 38\ZDFNL 3{HiIlZD) OiDZD

32/ 8NV _ XURUI &LHFKRFLQHN
32/ 363 6 -,0 3IRFN
32/ 363 6 - ,0 3IRFN
32/ 8NV . XURUW &HFKRFLQHN

-UDi -IXE

32/ .3 0=26 3RFN

32/ 8.6 GZyIND 6RFKDFJHZ
32/ 8NV . XURUI &HFKRFIQHN
32/ 8.6 GZyIND 6RFKDFJHZ
32/ 8NV . XURUI &HFKRFLOHN
32/ 8NV . XURUI &HFKRFIQHN
32/ 3636:,0 3RFN

32/ 8NV _XURUI &LHFKRFLOHN

=iRIN 6UHEUQ\  %Ua]RZ\ = VI\VINIH

32/ OICG]\VINRIQ\ 3NZDFNL _IXE 6SRUIRZ ~ RUND
32/  OICG]\VINRIQ\ 3AZDFNL _IXE 6SRUIRZ  RUND

32/ 8NV . XURUW &HFKRFLQHN

32/ OLCGT\V]NRIQ\ 3:\ZDFNL ..0XE 6SRUIRZ . RUND

32/ 8.6 GZyIND 6RFKDF]HZ
32/ 363 6 -,0 3IRFN

32/  OICG]\VINRIQ\ 3AZDFNL _IXE 6SRUIRZ « RUND

32/ -3 0=26 3iRFN
32/ -3 0=26 3iRFN
32/ -3 0=26 3iRFN
32/ 8NV _ XURUI &LHFKRFLQHN
32/ -3 0=26 3iRFN
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